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Cape Spear in Newfoundland and Labrador is the easternmost point  
in North America.

What type of energy is being produced in the image here?

1.

3.

A)	 True B)	 False

Hamlets are really small villages that usually do not have their own hospitals.

ANSWERS

2.
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A)	 True B)	 False

A)	 Wind

B)	 Solar

C)	 Coal

D)	 Hydro
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What religion is associated with the building shown here?

What religion is associated with the building shown here?

4.

5.

A)	 Christianity

B)	 Hinduism

C)	 Judaism

D)	 Islam

A)	 Hinduism

B)	 Christianity

C)	 Islam

D)	 Judaism
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The Ambassador Bridge that joins Detroit, Mich. and Windsor, Ont., handles 
approximately 7,000 truck crossings per day, making it the busiest truck crossing 
between the United States and Canada.

Buffalo jumps were used by First Nations people of western Canada and the 
United States for what purpose?

6.

7.

A)	 True

B)	 False

A)	 Places where buffalo were herded 
and forced to run  
off a cliff

B)	 Areas where the buffalo were fenced 
in until it was time to hunt them

C)	 Areas where buffalo were trained to 
perform tricks

D)	 Places where First Nations peoples 
hid waiting for the buffalo to get 
close enough to shoot
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Almost every country is a member of this international organization 
that tries to help the world deal with important problems.

Where is the Great Pyramid of Giza located?

Sherpas are a group of people who live in the Khumbu-valley in Nepal. They are 
best known as great mountain climbers who help others climb Mount Everest.

8.

9.

10.
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School Tiebreaker (     /3)

A)	 The European Union

B)	 The North Atlantic  
Treaty Organization

C)	 The United Nations

D)	 The African Union

A)	 Japan

B)	 New Zealand

C)	 Paraguay

D)	 Egypt

A)	 True B)	 False
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The Cabot Trail is a famous section of the highway system in Nova 
Scotia. What national park does the Cabot Trail run through?

Reindeer farming happens in northern Europe.

The Atlantic puffin is a common seabird in which province?

12.

13.

11.

ANSWERS
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A)	 Wood Buffalo National Park

B)	 Georgian Bay Islands  
National Park

C)	 Aulavik National Park

D)	 Cape Breton Highlands 
National Park

A)	 True B)	 False

A)	 Northwest Territories

B)	 British Columbia

C)	 Newfoundland and Labrador

D)	 Manitoba
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1.	 A) True

2.	 A) True

3.	 C) Coal

4.	 A) Christianity

5.	 A) Hinduism

6.	 A) True

7.	 A) Places where buffalo were herded and forced to run off a cliff

8.	 C) The United Nations

9.	 D) Egypt

10.	 A) True

11.	 C) Newfoundland and Labrador

12.	 D) Cape Breton Highlands National Park

13.	 A) True

Answers


